SH2F4B81BRE BEHEFREEFRERAORVUHE

SH2E581B8E BETEEEXREIIRAODORUHTE

g & B =i AR B | HEHK M2 B A0 % AQ UN=l HEH

I\ ithig 6,454 6,791 13,245 5,460 2& |WAEA 2K |RAEA| 2 |RABA 2& |RABEA
AFNHbig 3,156 3,293 6,449 2,207 I\ ithig 6,439 109 6,797 89 13,236 198 5,464 158
B &bl 5318 5,556 10,874 3,983 Kfihigk 3,164 47 3,303 12 6,467 59 2,219 59
=B 1,484 1,564 3,048 1,098 B S 5,306 62 5,548 84 10,854 146 3,981 139
K ilfi Hhig 1,956 2,019 3,975 1,372 = B ihig 1,483 7 1,566 16 3,049 23 1,097 22
B Fithis 792 820 1,612 559 Kt Hhig 1,959 17 2,009 38 3,968 55 1,370 45
B ibig 806 873 1,679 705 B = ith g 790 0 815 5 1,605 5 554 5
B EH2HE 19,966 20,916 40,882 15,384 B ithig 807 18 869 40 1,676 58 701 55
MEmLHE 19,948 260 20,907 284 40,855 544 15,386 483
i (R A k) A 18 A 16 A9 AT A27| A 23 2| A 23

HEREXSBRAQFNAEAERZSD.

Bt =i =1 HE
M AEA (T2 260 284 544 483 fH2E581B0E BLHTERERSERAORUVHEFE(HEADH)

g & B Z | AD B | HER

I\ ihig 6,330 6,708 13,038 5,306
KFxhig 3,117 3,291 6,408 2,160

B Sithig 5,244 5,464 10,708 3,842
= B b g 1,476 1,550 3,026 1,075
Klfi high 1,942 1,971 3,913 1,325
BA = Bhigk 790 810 1,600 549
1 5 Hhig 789 829 1,618 646
MEmLHE 19,688 | 20,623 40,311 | 14,903
¥E (R A L) A2 A2 A4 25




